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QUESTION 1

Indication of thiabendazole is: 

A. Cestodes 

B. Status epilepticus 

C. Strongylogdes stercoralis 

D. Ancylostoma duodenale 

E. Ventricular fibrillation 

Correct Answer: C 

 

QUESTION 2

Correct statement regarding the mechanism of action of Vancomycin may include: 

A. Inhibit release of tRNA bound to peptyl site after peptide bond formation 

B. Inhibit peptide bound formation between acylaminoacids bound to the peptyl and acceptor site 

C. Inhibit stage II of cell wall synthesis preventing polymerization of the linear peptideoglycan 

D. Inhibit DNA gyrase in the bacteria 

E. Bind to ergosterol from pores resulting in linkage of cellular 

Correct Answer: C 

 

QUESTION 3

Which of the following vitamins is depleted in the blood by smoke? 

A. Vitamin C 

B. Vitamin B 

C. Vitamin E 

D. Vitamin D 

E. Vitamin A 

Correct Answer: A 

 

QUESTION 4
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Gonorrhea, a sexually transmitted disease may be treated by which of the following agents? 

I- Cefixime II- Ceftriaxone III- Ciprofloxacin 

A. I only 

B. III only 

C. I and II only 

D. II and III only 

E. All are correct 

Correct Answer: E 

 

 

QUESTION 5

Mechanism of action of flunisolide is: 

A. Inhibits DNA gyrase 

B. Inhibits phosphodiesterase 

C. Inhibits phospholipase A2 

D. beta-2 agonist 

E. Competitively inhibits H2 receptors 

Correct Answer: C 

 

QUESTION 6

Use of estrogen in osteoporosis: 

I- Estrogen enhance calcium retention and retard bone loss II- Estrogen is useful in treat osteoporosis associated to
menopause III- Estrogen is not effective at increasing bone mass that has already been lost. 

A. I only 

B. III only 

C. I and II only 

D. II and III only 

E. All are correct 

Correct Answer: E 
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QUESTION 7

Identify the correct pathway of blood flow from the small intestine to the liver: 

A. haemorrhoidal vein - portal vein. 

B. mesenteric vein - portal vein. 

C. haemorrhoidal vein - inferior vena cava. 

D. mesenteric vein - hepatic artery. 

E. gastric vein - hepatic vein. 

Correct Answer: B 

 

 

QUESTION 8

Which of the following is the most important vitamin in pregnancy? 

A. Cyanocobalamin 

B. Folic acid 

C. Pantothenic acid 

D. Pyridoxine 

E. Niacin 

Correct Answer: A 

 

QUESTION 9

In an adequately powered, randomized controlled trial conducted over 3 years, a specific serious side effect (i.e.
reduction in leukocytes) with conventional therapy is seen in 0.5% of the study sample. In patients who receive a newly
discovered drug, only 0.45% experience the same side effect. Based on these results, the minimum number of patients
that would have to receive the new drug for 3 years to statistically demonstrate the prevention of one episode of this
side effect in at least one patient is: 

A. 15. 

B. 20. 

C. 150. 

D. 200. 
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E. 2000. 

Correct Answer: E 

 

QUESTION 10

Mechanism of action of vincristine is: 

A. Inhibits organification of iodine by thyroid gland 

B. Increases peripheral tissues sensitivity to insulin 

C. Reduces peripheral insulin resistance 

D. Inhibits Na-K-2CI transporter 

E. Mitotic spindle poison 

Correct Answer: E 

 

QUESTION 11

Correct statements regarding aminoglycosides may include: 

I- Has a half-life of 12hours II- The effect continue remain after all drug is eliminated III- The relation plasma
concentration and half-life is not clear 

A. I only 

B. III only 

C. I and II only 

D. II and III only 

E. All are correct 

Correct Answer: D 

 

 

QUESTION 12

Erythromycin: 

I. is effective against gram-positive cocci. 

II. is a macrolide antibiotic. 

III.
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 can increase gastrointestinal tract motility. 

A. 

I only 

B. 

III only 

C. 

I and II only 

D. 

II and III only 

E. 

I, II and III 

Correct Answer: E 

 

 

QUESTION 13

Hydrolysis of fixed oils may yields: 

A. Saturated + Unsaturated acids 

B. Glycerol + Fatty acids 

C. Glucose + Fatty acids 

D. Fatty acids + Triglycerides 

E. None of the above 

Correct Answer: A 

 

QUESTION 14

What would be the preferred route of metabolism of succinyl choline? 

A. Ester hydrolysis 

B. N-oxidation 

C. Glucuronide conjugation 

D. A and B 
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E. All of the above 

Correct Answer: C 

 

QUESTION 15

Drug that inhibits xanthine oxidase and affect the metabolism of 6-mercaptopurine: 

A. Sulfinpyrazone 

B. Allopurinol 

C. Penicillamine 

D. Purinethol 

E. Celecoxib 

Correct Answer: B 
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